Y4 - Autumn - Block 1 - Step 5 - 1,000s, 100s, 10s and 1s Answers

3,526

a) 1652
b) 5,016

No. Mo has put 5 ones instead of 5 tens.
His number is 3,205

Children use or draw Base 10 or place value counters in a grid to show the numbers.

2,365
Two thousand, three hundred and sixty-five.

a) Circle 2 thousands, 5 tens and 3 ones
b) Circle 5 thousands, 1 hundred, 2 tens and 4 ones

a) 7 thousands or 7,000
b) 9 hundreds or 900
c) 4onesor4d

d) 7tensor?70

e) 1tenor10

Any 4-digit number with 7 in the tens column e.g. 3,271
Any 3-digit number with 7 in the tens column e.g. 970
Any 2-digit number with 7 in the tens column e.g. 79

Possible answers:

5,610

3,621 4,620

1632 2631 3,630

1,641 2,640

1,650

Encourage children to work systematically.




